Setting the World’s
~ Performance Standards

Starting

Line Products, Inc.

743 lona Road + Idaho Falls, Idaho 83401 - Phone: (208) 529-0244 - Fax: (208) 529-9000
SLP ENGINE PUSH ARM

P.N. 23-60 for 2006 Polaris 700 / 900 IQ

Kit Contents:

1 - Torque Bracket

1 - Torque Stop

1 - 3/8” Jam Nut
1-5/16" x 3/4” Bolt

1 -5/16" Flat Washer
1 - 5/16” Nylock Nut

Read instructions carefully and completely before beginning installation.

NOTE: Clutch Alignment should be checked, and if necessary, adjusted prior to the
installation of SLP Torque and / or Push Arms.

1. Remove right hand side panel, exhaust pipe, and silencer.

2. Remove the bolt on the bottom right side of the front motor plate. Install SLP Push Arm using the stock bolt
(see lllustration below). Adjust the push pad to snuggly contact the recoil housing.

3. Using the push arm as a guide, drill a 5/16” hole into the silencer support bracket. Bolt push arm into place
using the 5/16” x 3/4” bolt and nylock nut provided.

4. Re-install the exhaust pipe, silencer, and side panel.

Web: www.startinglineproducts.com ¢ E-mail: slp@slp.cc



